
Datavideo Product Compare
https://www.datavideo.cn/

型号 TP-950
Product 平板电脑式PTZ云台摄像机提词器

兼容平台 ios、安卓系统平板电脑设备

摄像机固定方式 可调式快装板

支持平板/手机尺
寸

145 mm (最小平板宽度)
265 mm (最大平板宽度)

系统支持语言

简体中文
繁体中文
English
Dutch
Spanish
Portuguese
Russian

提词器尺寸
宽度: 535mm
高度: 590mm
深度: 350mm

液晶屏分辨率 N/A

液晶屏亮度 N/A

远程控制 * 可通过局域网进行同步控制
* 可选WR-500蓝牙遥控器

包装尺寸

重量 净重：10.3公斤
总重：13.3公斤

操作温度 0~40摄氏度

电源 12V 直流电源适配器

https://www.datavideo.cn/


包装明细

1 x 15” LCD Control Unit
1 x 12V universal Mains PSU
1 x USB Mouse
1 x 5m Ethernet Cable
1 x 3.5mm input adapter for WR-500 remote control
1 x TP-950 metal base tray with tripod plate
1 x 150 x 150 PTZ Scissor Lift
1 x Cloth Hood
1 x M4 CRV hex tool
1 x 9mm long ¼ thumb screw with red dot
1 x 9mm long ¼ thumb screw with washers
8 x M6*40mm screws
10 x M6*14mm screws
1 x 16mm long screw
1 x 3/8 to ¼ adapter
4 x 565mm Vertical extrusions
2 x 475mm horizontal extrusions with 90 degree joining blocks
2 x 325mm glass support extrusions with single end caps
2 x 250mm PTZ lift extrusions with both end caps
1 x 70/30 mirror glass
1 x Glass support bar
2 x Spare black extrusion end caps
2 x Spare M6*14mm screws
2 x 12V regulated DTap cable
1 x Small CRV hex tool to remove the tripod plate from item F
1 x Medium CRV hex tool to remove 90 degree joining blocks from item Q1 x 15” LCD Control Unit
1 x 12V universal Mains PSU
1 x USB Mouse
1 x 5m Ethernet Cable
1 x 3.5mm input adapter for WR-500 remote control
1 x TP-950 metal base tray with tripod plate
1 x 150 x 150 PTZ Scissor Lift
1 x Cloth Hood
1 x M4 CRV hex tool
1 x 9mm long ¼ thumb screw with red dot
1 x 9mm long ¼ thumb screw with washers
8 x M6*40mm screws
10 x M6*14mm screws
1 x 16mm long screw
1 x 3/8 to ¼ adapter
4 x 565mm Vertical extrusions
2 x 475mm horizontal extrusions with 90 degree joining blocks
2 x 325mm glass support extrusions with single end caps
2 x 250mm PTZ lift extrusions with both end caps
1 x 70/30 mirror glass
1 x Glass support bar
2 x Spare black extrusion end caps
2 x Spare M6*14mm screws
2 x 12V regulated DTap cable
1 x Small CRV hex tool to remove the tripod plate from item F
1 x Medium CRV hex tool to remove 90 degree joining blocks from item Q




